EXERCISE 9.3: Determine the impulse response A[n] of an FIR filter whose system function is
H(z) =4(1 — ™71 - e7™?771 1 +0.827h

Multiply the factors to get a polynomial and then determine the impulse response by “inverse z-

transformation.”
Note: The terms with complex conjugate roots can be simplified as follows:

(1 =reP27 (1 =re 77 =1 =2rcos(9) 77" + r?z72

McClellan, Schafer, and Yoder, DSP First, 2e, ISBN 0-13-065562-7. [ W [ HHM ,WWI, faa.
Prentice Hall, Upper Saddle River, NJ 07458. ©2016 Pearson Education, Inc. lumpf ‘lﬂf pee



